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2. Use vour calculator to work out

Write down all the figures on your calculator display,
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5.  Sophic wants to find out the amount of t‘ﬂ“ﬂ&“ '}mplc exercise, L\m& :z,mgp{ R
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She will use a questionnaire. | L _w\\) §

{a) Design a suitable question for Sophie to use in her questionnaire. C?é\CU;{)
You must include some Iea;mme boxes. | |
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Sophie asks the people at hCi swimning pool to {,mﬁpiﬁiﬁ‘ her qucx{ onnaire
This mav ot be a suitable mn‘mi
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_. ‘f’?@(’){’tﬁl C\,fi( M {9@@

e RE N e ke

&e) Y‘) Lg WA a\.u) AOT




A

W%%ﬁa %%iii ¢
% 'se w3,

}
14

1 area i@? %%éiii;%é:iféggﬁ‘;?%%ﬁ

The radius of a eircle s 10 em.




S.Michael buys 3 cartons of milk.

The total cost of these 3 cartons of milk s £4.20

Work out the total cost of 7 of these cartons of milk.
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- & Mr Wuther sells umbrellas.

sold and the

. The scatier graph she
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i In January of this vear, the ramnfall was 6.4 eny
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m During lantary, Mr Wither sold 32 umbrelias,
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13 Bob ashed cach of 40 friends how many minutes they took 1o 2ol 10 work,
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1. Enuma has 7 pens in a box,
5 of the pens are blue. |
: ns are red
random Wpen front the box and writes down its colour, :
the pen back. o the box. _
idom @wmm pen from the box, and writes down Tis colour
Second pen
—— , e :
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(bt Work out the probability that Emma takes exactly one pen of each colour from the
hox. _ :
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Feve are somw paticns made from squares,

Patterny pgianher | Fattern number 7

tar The disgiam beles shows part of Patterinambey 4
Conplete the dimpam for Paters pumber 4

(hp Complete the tat

Patfern man

Patterisumber

Boy of squares
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